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Answer Sheet No.
(=1 wT ITuREHR forgmET) | ‘ “ “ “ (81 AT ST forgTaT)
feam 7 arE : Tear, % O, 034 Fraeft : 99 am
A : HHABT 40.00 — 2R.00 TR 0T : Roo

TTfOTa SFuaTd A Y Tl TREAT T2 FHHIR I ITARIHT HHTH § S folfeet ST o qURH et 3T1ed.

INSIRT=N TE U YR TE

UG o
1. =1 TefEdehd 200 TEGHTS TR TaiaTEs Y9 IR TRTHE TR,
AW ¢ ~ HTATH - Yo T (ST + S STITE), | R - FASHH - Yo T, 9HT 3 - SUSITH - Yo T,
T ¥ - TR - Yo T (FIST + S TJATS).

2. WieT GE SUATgE S1.TH.HR. T 6] ST F TRt e e STTd.

T TISTIAHT el GEaTd 9 s IHSIRH AT TR SETE.

4, IHGERH AT TAYEeheR e qe STARRha feica FaT e qash Jr=meamd J aTaR TR &iehat
T oIy 371 UH.3TR. Junelt= STRufhet STawed wifed! 3aT1., Ueqfesh! se3id s, ITIHTH
T T = Tt aReT ue ST S fed foteran 9 erate gel FE. Tuaeshe SIidd ATt SHEaRH
Frafeud fofeeht 3R 8 qURE T T . IHETRM STRUhaR ST TeAgfeaeha @t e,

5. T Giefavargdt swiesigEs armEd.

6. TT TRAMM 4 SgTrl I fociel] ATed @Il Toh aid ard I HiTed .

7. A IR ferfevameTet Stafichat Hefe TeHTRTR ST adSTieh I T e Ide e 3T
TUITOT ShTeAT ST TS,

8. Thal Wledl IR TSI U™ fohal TTek! TS JTRUATH F1E 3TR. Tehal faeial 3 S8yl q
FAfcfEm U eTeTa.

9. YIS I ITWETR! T U1 faeAT S, TohRIeHeR T[UT JUATa A ATet. ThuaT ATk agestd gon
HeATE AT GIEFAIS ohelcl] FHATE T STAT 0T Tt T A1,

10. T W FOIHE! THY&RG aTe! faerel! ST ST, STRUfehar Thed &H & 4.
11, Jegfeqeher a8 SAAchar Tt shotel! STEeTe @ e Tiar=h 9 HUedTaR T gl GHa SehTehs
A . T e e @ e Fe .

12. I0IRHET Wi 9 GUEdiat Tiel heTeTet SvaE el I7e). P.T.O.

W
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A 3- 11

SECTION -1 (General Knowledge & Aptitude)

1. Hitler’s Party that came into power in 1933 was known as

A) Labour Party B) Nazi Party C) Ku-Klux-Klan D) Democratic Party
2. 2R33 AY HcdoR ATeie i A=A UIdH 71d @iefial Jehl Fivid 3T,

A) A B) ef ot

C) F-FIH-FAH D) SHIE a1l

2. Name of the India’s first satellite
A) Aryabhatta B) Bhaskaral  C) Bhaskara II D) Albert Einstein

2. VRATT Ui HedTged A1a

A) IrRlvee B) W& I C) 9= 11 D) 3T ABLE
3. The distance between two wickets on a cricket pitch is

A) 18 yards B) 20 yards C) 22 yards D) 24 yards
3. Torche for aftet S forehe weftet oTav et 31&rd 7

A) 18 T2 B) 20 a1 C) 22318 D) 24 91
4. Tajmahal is situated on river.

A) Gomti B) Yamuna C) Narmada D) Ganga
¥, drSHeEd T TR AT TR,

A) T B) AT C) a1 D) T
5. Nalanda is located

A) near Patna, in Bihar B) near Varanasi, in Uttar Pradesh

C) near Baroda, in Gujarat D) near Bhopal, in Madhya Pradesh

Y. TTAET IS THA IR

A) TR 9=, qre Siae B) 3T U< HEY, TRIVIE] Saes

C) TSRId e, SEieT wed D) HEY Ye¥l e, {43 Sac

6. P.T. Usha, who came close to bagging a bronze medal, finished fourth in , in 1984

Olympics.

A) 400 m final B) 800 m final C) 400 m hurdle D) the marathon
&. 1.3 3, S Sz Ik U STaes T reret] 8iel, 9 1984 T dieh Ae e =

ShHTeh JehIaal.

A) 400 /1 W B) 800 M 3™ C) 400 Hi g D) HqUH

Clerk/Steno/Stenotypist
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10.

1.

.

4 LR

The blood pressure of a young male human being is

A) 100/60 B) 120/80 C) 150/100 D) 160/110
. T FATAT JEST ThaTel 1.
A) 100/60 B) 120/80 C) 150/100 D) 160/110

The scientist who first discovered that the earth revolves round the sun was
A) Newton B) Copernicus C) Dalton D) Einstein

. et gtTed TR e ufeeraT eie erevmT S

A) & B) I HeH C) Sleed D) ATEEE

The function of a dynamo is

A) To convert heat energy into light energy

B) To convert light energy into heat energy

C) To convert mechanical energy into electrical energy

D) To convert electrical energy into mechanical energy

. SRAM I S

A) 37 39T TeRTRT TohTuT 35T TUTa R0y
B) JehTST TSh0T ST 3507 Ioid TR L0l
C) TR Isidl T Isid T H0]
D) forga 35t Ahiens 3sid EHTTR 0

Which Bank has the maximum number of branches ?
A) State Bank of India B) HDFC Bank
C) ICICI Bank D) Bank of India

. RIUTCIT Sohoq1 Halid STHd ITET AT2d ¢

A) TR T Sk (T2 sk AT 3fean)
B) U9 € UH H| o
C) 3T T A Hl 3T o

D) e 3Tk gfean

The landmass of which of the following continents is the least ?

A) Africa B) Australia C) Asia D) Europe
WTATAUh! gdid BIT TS HIVIT ?

A) STHeRT B) 3Tfecferan C) TiiRmEn D) Jd
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12. James Watt invented

gR.

13.

A) Diving bell B) Steam boat

C) Hot air balloon D) Rotary steam engine
ST 2 = I I AT 7

A) TUEET HHE (SR o) B) aTha dle

C) TRH T F D) Tt feen s=ia

Arjuna Award is given for

A) Outstanding service in emergency
B) Outstanding bravery on battlefield
C) Outstanding performance in sports

D) Excellent service to slum dwellers

93, IS IR IEet oot S

A) ATIhH TR SgE- gad]
B) FemHid 3gEH 1 JRaHTa!

C) TaMEid IeciE 1 ARG

D) FUSUE I ATREETE! T et S AR sheaTeed

14. Who is the writer of ‘Swamy and Friends’ ?

A) Munshi Premchand B) Raman
C) Max Muller D) R. K. Narayan

2%. ‘Swamy and Friends’ I J&ehTell AEeh I ¢

A) GEiYmEE . B) W C) Had ool D) 3. . THREIH

15. INTERPOL means

A) International Political Conference

B) International Criminal Police Organisation
C) International Association of Police Officers
D) None of these

4. TATA FeUN Y 7

INEESFERRINEEN EIC |

B) eI fehfiaet diehie STTeTHREeH
C) TTAHA FAH I 16 A 18 ATTHER
D) Il hIvrde! ATE

Clerk/Steno/Stenotypist
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16

28

17

29

18

¢,

19

2R

_6-
. Tippu Sultan was the ruler of

A) Hyderabad B) Madurai C) Mysore D) Vijayanagar
foggeam_ i TenEmE.

A) THETR B) HgUs C) T D) T
. The members of Rajya Sabha is elected for a term of

A) 2 years B) 4 years

C) 5 years D) 6 years
. TSIV Fag wamEdt . TR,

A) Rad B) ¥ a§

C) wa D) &Y

. Devaluation of currency causes

A) No change in domestic prices

B) Fall in domestic prices

C) Increase in domestic prices

D) Variable domestic prices

37 1 TS TETeftet e T W Sl 7
A) T =T [ e Seet B AT
B) S0 st fohue e o12 Bd

C) T T e 1 €

D) BRI st fohma 1R (et /<) €1

. The Yarlung Zangbo river, in India, is known as
A) Ganga B) Indus
C) Brahmaputra D) Mahanadi

. RATHEN TR TS TEIAT i FUTaTd 7
A) T B) 3§ C) S D) wemdl

Clerk/Steno/Stenotypist
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20

Ro.

21.

.

22.

RR.

23.

3.

24.

Y.

25.

4.

. Which country has the largest coast line ?

A) Canada B) Australia C) US.A. D) India

SHIUTCT SR Fald HIST TR foh /T 3778 7

A) FST B) sAfegicra C) 3.wE T D) 9Rd

Who was the first Indian to go into space ?

A) Ravi Malhotra B) Satish Dawan

C) Kalpana Chawla D) Rakesh Sharma
TSI VIR Uled AT T 7

A) WiHegE  B) gdwmigdd C) deuiEEdl D) Th IHi

The hardest substance available on earth is

A) Gold B) Iron C) Diamond D) Platinum
JedlaR IUTsY SAHTIAT Fad 2uIeh UgTed hIvrdT ?

A) GH B) &8 C) f&u D) A
The filament of an electric bulb is made of

A) tungsten B) nichrome C) graphite D) iron
AT soal o fhelHe MM TaN el 1R 7

A) TTEA B) ThH C) UTHEE D) R
Potassium Permanganate is used for purifying drinking water, because
A) it is an oxidising agent B) it dissolves the impurities of water

C) it is a reducing agent D) it is a sterilising agent
70T} I3 FLOATATS! TIE T TS < AT helT STl Shiol

A) T AT RIS TSe 311 B) 1 UToameiiet A3l hied!

C) 1 teH M Teie 1] D) T TS TSie 3112

Enormous energy release happens in an atomic explosion due to
A) conversion of chemical energy into heat energy

B) conversion of mechanical energy into nuclear energy

C) conversion of mass into energy

D) conversion of neutrons into protons
1Y) foremiemed, Hidt 311 ek TIvaT= R0l @Teiiel Uehl 311

A) THRHTE IST 307 IAHET TTL B 10T

B) itk 311 319 IS T BI0T

C) TIHHT ISHE TR S0l

D) 21 & e A&l TG &I01
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26.

R&.

27.

R,

28.

RC.

29.

RR.

8- LR

Rayon is chemically

A) a cellulose  B) a pectin C) a glucose D) an amylase
WA T THRAT W eTush! ShIUTdT JehR TR 7

A) HegdS B) ¥

C) TH D) e

A Siphon will fail to work if

A) the densities of the liquid in the two vessels are equal

B) the level of the liquid in the two vessels are at the same height
C) both its limbs are of unequal length

D) the temperature of the liquids in the two vessels are the same

‘Siphon’ T8 T TIIIN AT ST

A) EH TS ST a1 THH 3 O
B) TN WisaMeial sare 3 aiEie ST8d @
C) T2 TS| SATUH ATl =T ST qX

D) EF Wiemeie e dToHH TREe 3l at

Oil rises up the wick in a lamp. The principle involves

A) the diffusion of oil through the wick

B) the liquid state of oil

C) capillary action phenomenon

D) volatility of oil

daT=a e, 9 aTdHed 9 TeUaTHTe! e et deh! IV T THTIISE 3R 7
A) Il WY TAT SATE0 B) daTE 39 STaE

C) hITThYT fehart D) daTe Aferar

Rainbow is due to

A) absorption of sunlight in minute water droplets

B) diffusion of sunlight through water droplets

C) ionisation of water deposits

D) refraction and reflection of sunlight by water droplets
Seag ATe o i

A) IO SeHE QAT VAT ST

B) U ASHE QUG ST

C) U STTHTET! ST

D) T SeTed GRS STaadH ST diadH
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30. The nucleus of a hydrogen atom consists of

A) 1 proton only B) 1 proton + 2 neutron
C) 1 neutron only D) 1 electron only
30. TEGISH HUAT hEHed 3TEAr.
A) F9& 1 TeH B) 1 WM +2 =g
C) *des 1 YgH D) %de 1 S
31. Pulses are a good source of
A) carbohydrates B) fats
C) proteins D) vitamins
3%, U el A9 T4 IR,
A) FEieh B) W C) T D) Sieacd
32. In electrical field, ‘AC’ stands for ?
A) Alternating Current B) Average Current
C) Atomic Current D) Aggregate Current

33. Toga fowffeen g™ <AC” a1 S wrearn @iefiardenl ot 37ef 3TR.
A) Alternating Current
B) Average Current
C) Atomic Current
D) Aggregate Current

33. In computer science, how many bits make a byte ?

A) 4 B) 8 O) 16 D) 32
33. T fagmmed, fond fore, e aam o ?
A) 4 B) 8 C) 16 D) 32

34. The “home page” of a web site is

A) The largest page B) The last page

C) The first page D) The most colorful page
3. IR THUS 3.

A) Faid 718 U= B) Iiered UM

C) ufedt M D) Fatd Tiid aH
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35

4.

36.

38,

37.

3.

38.

3¢.

39.

3R.

40.

-10- LR

. ‘DTP’ computer abbreviation usually means
A) Digital Transmission Protocol B) DeskTop Publishing
C) Data Type Programming D) Document Type Processing
TIURRIE SIETHT 81 3168 AT ATHAT STl
A) feforea Troism Teiial
B) S&he(d UscA I
C) =21 2R T
D) ST 5T T
The command to ask the computer to put information in order numerically or alphabetically
A) Crop B) Report C) Record D) Sort
TATIRTAT STSRTIHTUN SATIUT SHCHISEIhal HIfgd] SUATETR! ShIVId] FHHTS <dTd ¢
A) F B) fue C) =i D) §ie
Ctrl, Shift and Alt are called as _____ keys.
A) Adjustment B) Function C) Modifier D) Alphanumeric
Ctrl, Shift 3AT0T Alt I ol TEUTAT.

A) TesEen=< B) %M C) HISHRR D) STchRIHRIH

The number of districts in Maharashtra State is

A) 23 B) 36 C) 39 D) 45
e Tsamefid TS g

A) 23 B) 36 C) 39 D) 45
When was Maharashtra State formed ?

A) 1947 B) 1950 C) 1955 D) 1960
Halbg Ul chorl dYl Sl ?

A) 1947 B) 1950 C) 1955 D) 1960
Number of members in the Maharashtra Vidhan Sabha is

A) 543 B) 288 C) 298 D) 308
e faemmasme fohd) gew o1

A) 543 B) 288 C) 298 D) 308
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41.

%2.

42.

¥R.

43.

¥3.

44.

¥¥.

45.

¥4,

Three of the following are alike in a certain way. Which one is not like the other three ?

A) Boy B) Dog C) Bull D) Bird

QT AT Teh 3768 G0 ATal. AT AT 68 ATSE].
A) g B) & C) a9 D) Teft

In a certain code ‘MEDICAL’ is written as ‘LACIDEM’. How is ‘“TABLE’ written in that

code ?

A) EABLT B) ELBAT C) TELBA D) TLBAE

TETET ShigHsd ‘MEDICAL’ ¥1s€ ‘LACIDEM’ 3%HT fefeTelt, @€ “TABLE’ 21 316€ & fetfgat
e 7

A) EABLT B) ELBAT C) TELBA D) TLBAE

Which of the following word comes third in the order in a dictionary ?

A) Obsess B) Obstruct

C) Obtrude D) Obtain
GTATAUhT IV Y168 TeTHIRTHE TE=AT SHHTTER UG ¢
A) Obsess B) Obstruct

C) Obtrude D) Obtain

What is the next number in the series — 18, 10, 6, 4, ?

A) 8 B) 6 0) 3 D) 5
18,10, 6, 4, ? 91 JEciHed JEI 37k 1 3 7
A) 8 B) 6 0) 3 D) 5

What continues the series — AOZ, BOY, COX, DOW, ?
A) EOX B) FPY C) EVO D) EOV

1 sJ@HE e % 318 - AOZ, BOY, COX, DOW, ?
A) EOX B) FPY C) EVO D) EOV
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46

¥&.

47.

48.

¥C.

49.

¥\%.

50.

12- LR

There are four roads. I have come from the south and want to go to the temple. The road
to the right leads me away from the coffee house; straight ahead it leads only to a college.
In which direction is the temple ?

A) East B) West C) North D) South

IR T AT, Ht qefiuiehga STl AT BT Sge8Td ST 311, ITiehalal Tl Hell hith!
BT foeg TaxIe S ST, Ties TeT shictST e SITAl, dl S3had hIvedT faxielT 378 ¢

A) @ B) ws=fig C) 3™ D) gferor

A husband and wife had five married sons and each of these had four children. How
many members are there in the family ?

A) 12 B) 17 C) 22 D) 32
. U1 SIS Tl foaTed ot ATed ST e Sedehiall IR Hot 3T1ed . =1 Shgaleedl T fohdt
e 3R 7

A) 12 B) 17 C) 22 D) 32

Sheela is older than Meena, Kamini is as old as Nalini. Nitu is younger than Sindhu, who
1s as old as Nalini; Meena is older than Kamini. Which Girl is oldest of all ?

A) Sheela B) Meena C) Nalini D) Kamini

it HT veqT Widt 3T, shfeet Tt = gHeaf o1, g oy Yen oem stR, fae afert =
THIAH 3T, HH1 R UeT A1t 3R, T EAId HId! ot shivrdl ¢

A) ittt B) HHT C) et D) et

If the fourth day of the month falls one day before Sunday, what day will fall on the
eleventh day of the same month ?

A) Monday B) Wednesday C) Friday D) Saturday
T <o feag teaem=an e feam a1t ST1er O = wig=ana STt oo shivran ?
A) GHaR B) JUaR C) IEFAR D) YIHaR

A is father of B, C is daughter of A. Of the following, what is the likely relation between
Band C?

A) Father and daughter B) Brother and Sister
C) Husband and Wife D) Uncle and Niece
DA RT IR, F A H A gt AR, T A T gefiet T1d w7
A) T i et B) WS ATRT SR
C) udt 3for ueft D) hTehT STTTOT =i
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51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

61.

SECTION - II (WRret forwamer 31m)
it TR TrervaTYE T gTeiEe’ I AR IS fRATIETE YRR SIS E.
A) it B) TR C) TR D) wTaehgeh

‘@fud’ o femanferseor=n Jerr vt ?
A) ITIHROEEH  B) THRETH C) Frrresis D) fedrfaesie

TR Rad vreern 314 sTiz@r. ‘feamsh #rEiad d forer’

A) fega @ B) Il Igd 3TH

C) et D) TN

‘T’ 1 YeaTa foreguel wreg v ?

A) 3 B) T C) W& D) Hgd
‘TS AR Rad Srearel ST ez

A) T B) fasiwor

C) YegARTt 3T D) forame

‘ot fray forfeay = aerrmen Gt sydepTes v ?

A) # Fey ferfea s@ B) #i fiy ferfeen g

C) i ey frfea v D) i freiy fofean

ST TohATIGTAT SF ShH ATTATd 3T fShaTaeTeT shTd FeUIdTd 7
A) SRy B) gfied C) farge D) SAquiferer™
FYT & G TR 0T 7

A) HI3T 9T T A-GH STHT B) B¢ d 3Tt
C) 1 a7 AT D) = 3 & 319
NEIEISRIE SN GRIECINERESUECIFS

A) THRA™ B) fasrsm C) YEa=eA™ D) aiqeTea T

CININMEARNE R EEANINEC Ce R RIPA T
A) TIRY B) =et C) JAYE D) fommr

Ffsrauor Teha=t AT Tee o=,
A) #g B) €l C) e D) wig
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62.

63.

64.

65

66.

67.

68.

69.

70.

71.

72.

73.

14- IR O
@ feciean IR 31ifRad seern shrene s,

HATeA T ST TR ShieTd 3TTedl.

INEEIEETU] B) {UTEH C) HeleH D) &l

T FTSTAT 107t STl 3T ST il 3TTR g Srear=l forered} 3Tiesar.

A) et B) W= C) gwaHt D) =iqeff

Wt IETAT S0 AT AT AR HHTIET STAAT 168 10K 7

A) Hi B) ST C) o D) el
“foraeh fohahe Wezdl . (TATT 3Ties@n)

A) Ut B) GH& il C) FAFHF Hal D) WM

‘ST BT T . (SRIRT S Tesd)

A) Y B) ddl C) 9& D) 3TehHeh hadl
el Tehe ARMATE e et | SITeTT aeTTd TR Jieereh 591 =TT | — TR ATl
A) ER B) SUIHI C) FETdt D) 37T

Rt |31 | U BTt aie] a1t |
T TR T | ST 35hT 31 ||

A) At B) 31 C) I D) 3TAHR
TEAT AT ATeATHes HI IMed AV ATE!, e JTrITd el shied TR ATl
A) Fad B) firsr C) T D) |8l

TN BR 863 9Teld, TShaTioreTSuTTe TR Hiesw.
A) T&EEE  B) fdlames C) HIaT=h D) IRATET

1 ‘R s R wd. T s,

A) T B) ®dd C) ITRIaT D) @
TS S AeAT. - ki HATBEl.
A) B) @M C) gl D) et

A @R e - fohamaem &9 st
A) T B) 30T C) 94 D) g1g
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74.

75.

76.

7.

78.

79.

80.

81.

82.

83.

84.

85.

86.

TRETTUTIER Het ©eg ATTe - FehaTIaTe YehR STied.

A) GEU® B) T hAME  C) T
fUheTetT ST STTEEdl — HTq STl

INREED B) 37T C) 3Tared
foror €t wTeaT=i IV ST TR ¢

INREIEEA B) fo&rt C) 3T
5 ISETAT SHTRLUTTT 1 FEUITA ¢

A) gl B) ferpelt C) %
STeQTAT Hd TS daaicic] €9 FeUS Hd 7

A) 58 B) & C) 31
30, ¥, 9 T TR ¢

A) 3H B) 99T C) aut

‘%’ T RIUMT 01 AHAT STTal ?

A) ¥ B) =S C) Tdaaut
Ui IR Y01 FUATHTS! = HEd TATa! AT 7
A) T B) =&sH C) @&

e T 3 TG S M1 1 FEUIard ¢

A) TUHTAT B) 37eR C) IREE!
AT TISIehT0T IR ST & TR,

A) TR B) Felfymie C) TRTREITRS
BI‘CH{ |ad Oh{Uql‘dW%IUICI?

A) oIl B) «m1 C) dar=d
SFHfaddiel Higdesi= TR 1T 7

A) TR B) T&Y C) gied
FTFER ATCAT O 1 & TR,

A) 98 B) dEYER C) weull

11

D) @™

D) el

D) farsgerft

D) T

D) aut

D) ¥R

D) gaul

D) 31&R

D) HeTer

D) &

D) q@igTd

D) AT

D) GYEH™
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87.

88.

89.

90.

91.

92.

93.

94.

95.

96.

97.

98.

99.

100.

-16-

HY 37T FTEX -FIhE| Glow |- TqaTied foRo TR STSET.

A) TS B) eqaTted C) ATIEed D) HaTHHETed
A FoRa =1 3 Tl ST - ST YehR 3.

A) q=Idg®  B) fowewdios C) @ digsh D) FRUEEH
HM ' °h°|(’1$|¢||‘|ﬂ| YT 3UTh N H[SdT.

A) GaEAeRi  B) HHERIH C) fatiaresis D) HHexh
T FHTETT YRR 3TTesEl.

A) T B) SHUIRY C) AEIHISATH D) Tavardl acqey
‘ficTeha’ THTETET YRR 37T,

A) ST FE  B) dIwlcwwge  C) wgall D) safreR
‘T’ 1 YeaTHgE i YR 3TeadT.

A) <=h B) dew C) dg9a D) TS
VT TR ITIITEY AT ¢

A) Rrg B) @iferd C) 3y D) T3
T SRIIdMET hIvd foRmTEg <= 7

A) Ui form B) 3fefform C) WeufeR™ D) e
TRV AT STTHE ohetel a1 TiEH TEUTS! hivld ol 7

A) Y[gHEH B) 3TJci&H C) SacieH D) TEdaeiEd
A -forare formfers sTiean.

A) @amfae B) FwruifR C) wedeum e D) @afes
“srferen’ € e e AR

A) T B) YTegr= C) ISHTE D) o=
“TES AT Ushe™ I3 TSlaed] hiedTdid I 3T T.

A) B) aR C) 1 D)
‘ARG AT AR — AARRIET TR HTSET.

A) 3uHT B) ®U% C) 3= D) 3c3e
TEMERAY TS SIS, THHYT TG —eh1edT= 07 1@,

A) T B) Aregd C) I D) 3A1as
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SECTION - III (English Subject Knowledge)

101. Which one of the following is not a ‘preposition’ ?
A) through B) into C) but D) between

102. Choose the correct sentence from the following.
A) The train left before we reached the station
B) The train will leave before we reached the station
C) The train had left before we reached the station
D) The train was leaving before we reached the station

103. Choose appropriate form of the verb to fill in the blank.

She in America since 1995.
A) lives B) is living
C) have been living D) has been living

104. Which one of the following suffix is not a class changing suffix ?
A) — ment B) — ness C) — hood D) -1y

105. Fill in the blanks with the correct option.

I am very busy today, we can go out tomorrow.

A) fortunately B) certainly C) perhaps D) obviously
106. Use the appropriate article to fill in the blank.

France is European country.

A) a B) an C) the D) no article

107. Write an adjective form of ‘distinction’.
A) distinctive  B) distinctly C) distinctness D) distinctives

108. Choose the correct form of verb ‘liberty’.

A) libertine B) liberation C) liberality D) liberate
109. “You are hitting him below the belt’, ‘to hit below the belt” means

A) to criticise B) to denounce

C) to attack unfairly D) beat with the belt

110. Choose the correct word for the underlined words in the sentence :
Smallpox is a disease which is commonly acquired from others.
A) infectious B) contagious C) parasitic D) communicative
111. Choose the correct suffix to complete the following word —
favour
A) ate B) ete C) ite D) iate
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112.

113.

114.

115.

116.

117.

118.

119.

120.

121.

18- LR

Choose the correct option to fill in the blank :

The little girl tried to her brother when he broke his toy.
A) condole B) condone C) console D) compensate

Knowing that he was a convict, I didn’t allow him to enter my house. Identify the
underlined clause.

A) Adjective clause B) Adverb clause
C) Noun clause D) None of the above

Which one of the following is not a plural noun ?
A) mice B) cattle C) oxen D) goose

Choose the correct opposite of ‘disparity’.
A) brotherhood B) equality C) diversity D) fraternity

It was a very fine morning.

Which is the exclamatory form of the above sentence ?
A) What was the fine morning !  B) How fine was the morning !
C) The morning was very fine ! D) What a fine morning it was !

Which one of the following words is not an adverb ?
A) frequently B) always C) happy D) fast

Choose the sentence in perfect past tense.
A) She has been writing a letter B) She had been writing a letter
C) She had written a letter D) She has written a letter

Choose the correct alternative to fill in the blank.

Ram is than Lakshman.

A) elder B) older C) eldest D) oldest
Choose the correct option to fill in the blank.

If you make promise, you must be sure to it.

A) accomplish B) keep C) follow D) succeed

Rearrange the jumbled parts of the sentence in proper sequence.

P — most of the students

Q — was so confusing that

R - the teachers explanation

S — didn’t understand it

A) PQRS B) PQSR C) RQPS D) PSRQ
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122. Choose the correct verb form.

11

She ran because she in a hurry.

A) is B) was C) must be D) could be
123. Choose the correct option to fill in the blank.

She is the only to her father’s property.

A) hare B) hair C) here D) heir
124. Pick out the correct question tag.

You will call me as soon as you reach home,

A) will you ? B) won’t you ? C) don’t you ? D) do you ?
125. Choose the correct alternative.

I am writing a letter to

A) a friend of me B) a friend of myself

C) a friend of ourself D) a friend of mine
126. Which one of the following is not figures of speech ?

A) metaphor B) personification

C) elegy D) oxymoron

127. Choose the correct meaning of ‘pragmatic’.
A) theoretical  B) realistic C) productive

128. Choose the correct word.
She was a religious lady, but her son was
A) pious B) an atheist C) unreligious

129. Use the correct prepositions.

Finding myself short money, [ wrote
A) with, to, for B) of, to, about C) in, to, to

130. Choose the word that is spelt correctly.
A) Bureaucracy B) Boreucracy
C) Beaurocracy D) Bureocracy

131. Choose the meaning of the word ‘posthumous’
A) postal B) after-death  C) creditable

D) suitable

D) philosopher

my uncle help.
D) of, to, for

D) literary
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132.

133.

134.

135.

136.

137.

138.

139.
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Fill in the blanks with correct options :

Mahatma Gandhi was very simple and innocent, his behaviour was
A) childish B) child like C) humble D) proud

Choose the correct alternative of :

Shivaji was the greatest king

A) No other king was as great as Shivaji
B) Very few kings were as great as Shivaji
C) Shivaji was greater than himself

D) Shivaji was more greater than kings

Use the correct preposition of :

What are you talking

A) of B) for C) about D) none of them
Choose correct alternative :

I am afraid | attend the meeting.

A) can B) can’t C) could D) couldn’t

Which is the passive form of ?
Give me hundred rupees.

A) Hundred rupees are given me
B) I was given hundred rupees

C) Let me be given hundred rupees
D) Let I was given hundred rupees

Choose the correct question tag form and fill in the blank :

I genius person.

A) amn’t B) am C) aren’t D) are
What is the type of underlined part of sentence — clause ?

When I was seven years old, I overheard it
A) noun clause B) adjective clause

C) adverb clause D) none of them

What is the underlined part of sentence ?

Though he is fat, he runs fast.
A) simple sentence B) compound sentence
C) complex sentence D) complex-compound
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140

141.

142.

143.

144.

145.

146.

147.

148.

149.

150.

What is the opposite of ‘off” ?
A) down B) on C) in D) into

Choose the correct question form of —

I love watching other play.
A) Did I love watching other play ?
B) Does I love watching other play ?
C) Who love watching other play ?
D) Do I love watching other play ?

Choose the correct part participle of ‘steal’.
A) stealed B) stole C) stolen D) steat

State the type of tense :

‘He scored 1286 goals’
A) simple present tense B) simple past tense
C) perfect present D) perfect past tense

What is the opposite of ‘sweet’ ?
A) bitter B) sour C) yummy D) crunchy

Find the odd word from the followings.
A) screech B) crash C) honk D) foul

What is meaning of the word ‘aroma’ ?
A) a good smell B) odour C) warm D) strong

Find out the odd word from the followings :
A) rattle B) twitter C) squawk D) chatter

Choose the adjective form of ‘magic’.
A) magestic B) magical C) magician D) musical

Choose the correct spelling from the followings.
A) assasination B) assassination
C) assination D) assassnation

Use the correct word and fill in the blank :

Indians living in foreign countries are cultured.
A) The few B) Few C) Short D) A few
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2 R TR
SECTION -1V (Mathematics Subject Knowledge)
30*
151. ra =
A) 62 B) 64 C) 52x 62 D) 52 x 6%
30*
ue. ra =
A) 62 B) 64 C) 52 x 62 D) 52x 6%
152. P is a positive rational number such that 1000 x P < 1000. Which of these could be P ?
o 1 m 12
) 12 ) 11
1
12—
© 11

D) There is no such number P

24R. P & o 0T e 3Rt 3178 Shl, 1000 x P < 1000. 7% P =t forAa shivre ?

11 12
) STl
1 o hd o
C) 12H D) PHT3! hIUATE! 37eh HTal

153. (-p)-q)* =
A) p*+2pq +¢?
C) - () -2pq - ¢°
23 (-p) -9 =
A) p*+2pq +¢?
C) - (p)* - 2pq — ¢

B) p>-2pq +q>
D) - (p)?> - 2pq + ¢*

B) p>-2pq +q>
D) - (p)*> - 2pq + ¢*

154. Sadu’s average marks in 5 subjects were 60.6. His total marks in the remaining two subjects
were 173. Find his average marks of all the subjects.
A) 68 B) 66 C) 65.6 D) 64.6
LY. TGS T et 7o 60.6 1R . eted aF T ur=h o1 173 1R, & =1 gd
TersrrTa TpoTT=t T T ford gR e ¢
A) 68 B) 66

C) 65.6 D) 64.6
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155.

2.

156.

guE.

157.

4.

158.

L.

159.

guR.

The price of a novel is 20% more than the price of a drama book. By how many percent
is the price of the drama book less than that of the novel ?
2
A) 10 B) 165 C) 20 D) 25
ThT SRS TcHeh JEehTel! fohtd TehT ATeshT=al JRaeRT=AT o TUadT 20% ST 3R, T ATesht=al
QR TRt <TGTTereh JeaehT=a foRmdl UaT fohcl Sarhar1 shell e 7
2
A) 10 B) 165 C) 20 D) 25
The sum of two numbers is 96 and their difference is 24. Find the ratio of the numbers.
A) 4:1 B)4:5 C)1:4 D) 5:3
T FEITE SN 96 9 WA Heh 24 S TR &1 & AT U 30T ?
A) 4:1 B)4:5 C)1:4 D) 5:3
1
77 + 717 = 7,thenx=?
A) 24 B) - 10 O) 10 D) None of these
1
77+ 7= -, W x=?
7X 9
A) 24 B) - 10 C) 10 D) Tk AT
If x = 3y = 2p = 4, find the value of 9xy? — 3yp
A) 72 B) 24 C) 30 D) 56
ST x =3y =2p =4, I, T 9xy? — 3yp =1 fohma Fre]
A) 72 B) 24 C) 30 D) 56
Volume of a cube is 216 cc. So area of one surface of a cube = cm?2.
A) 36 B) 72 C) 18 D) 24
TehT BT S 216 cc(HHY)3 3R, T oI ST Ueh! TS3HTT &%ha] = ()2
A) 36 B) 72 C) 18 D) 24
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160.

161.

L&Y%,

162.

2&R.

163.

2&3.

164.

¢RY.

24- LR

If a polynomial is divided by (x + 3), quotient is (x — 2) and remainder is — 7. Then the
polynomial is
A x2-x+1 B)x2+x-13 O) x2+x+1 D) x2—x + 13

. S THT TEHIA (x + 3) 7 AW ST HFTTRR (x — 2) T 1kl — 7 iesd T df agadt hiord] ?

A x2-x+1 B)x2+x-13 O) x2+x+1 D) x2—x + 13

One of the four angles of a parallelogram is 65°. Then the measure of its adjacent angle is
A) 65° B) 90° C) 115° D) 25°

H‘-IICI{ ‘ﬁat{l‘*ldl‘cﬁll IR HHTIh] Tahl shIHTd HIT 65° 3T|% AT h[HT=IT A=A sh[HT HIY

Tordt 731 378 7

A) 65° B) 90° C) 115° D) 25°
6 6/7
— — 9
By how much does 773 exceed 2
| 3 3 |
6— 6= 7= 7—
A) 6 B) 65 0 75 D) 7
6 6/7
28 & YT Tohel ST 379
1 3 3 |
6— 6= 7= 7—
A) 6 B) 65 0 74 D) 7
1 23
If ¥ 782 is to be divided into three parts, proportional to 5 3 Z’ then the first part is
A) X182 B) 190 C) X196 D) X204

1 2 34
611?7823‘1?%1%[%@%&11%{[%5 3, W Hesd T T Ufeee AT o forc 7

A) X 182 B) ¥ 190 C) X 196 D) 3204
A number is selected from numbers 1 to 27. The probability that it is prime number is

A) = B) C) D) =
) 3 )% ) 3 )9
14 27 e T g faeet staal. of ae Joaen Juam SRt fohd ¢
2

2 1 1
A)g B)g C)g D)g
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165. Following marks were obtained by 12 students in a mathematics test :
21, 20, 25, 5, 10, 15, 30, 12,7, 16, 9, 22
The range of the marks is

284,

166.

¢&&.

167.

2R,

168.

2&<.

169.

2&R.

170.

2o,

A) 20

B) 25

-25-

O 21

11

D) 7

T =t wterd 12 feremeatan @refier smmr o fesret Tmed
21,20, 25, 5, 10, 15, 30, 12,7, 16, 9, 22
T IOT ot} wRfaT S,

A) 20

97 + 32 =32 + 97 is an example of

B) 25

A) Commutative property

C) Closure property

O 21

D) 7

B) Associativity property

D) Distributive property

D) 18

D) 18

D) 50°

D) 50°

D) 2x + 4

D) 2x + 4

D) None of these

97 +32 =32+ 97 T WATTIh! IV I Tg ?
A) FHATIEAT TR B) W= uTEH
C) WER forreft fomam D) feraor urer
How many percent of X 5 is 90 paise ?
A) 12 B) 14 C) 16
90 ¥ TV X 5 o Toheft 7ok 7
A) 12 B) 14 C) 16
The measure of /ABC of a rhombus ABCD is 100°.Then what is m ZBDC ?
A) 60° B) 40° C) 45°
TSl =k ABCD H&d 419 ZABC = 100° 31l A9 /BDC =
A) 60° B) 40° C) 45°
If x is an odd number, which of the following numbers is even ?
A) 2x +3 B) 2x +5 C)2x-3
R x B forom e 3@d, T Wielierish! shivid] ST | 318 7
A) 2x +3 B) 2x +5 C) 2x-3
If the base of a triangle is doubled and the height remains the same, then new area will be
A) 2 times B) 3 times C) 4 times
TehT PARIOTT= 3=t 7 Setdl I e shall T TR BIVIT=AT it BRIV &fsrhel =1 BeRivra
SABATT fohd U 78 ?
A) TI B) fawae C) =he

D) It TTEl
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171.

208,

172.

R,

173.

93.

174.

2\9¥.

175.

k.

176.

k.

26- LR

The area of a trapezium is 100 m?. If the sum of its parallel sides is 50 m then, its height
1s equal to
A) 4m B) 6m C) 8m D) 10 m

kT GHQIS SIoh T &Thes 100 (HT)? 3HTe. SIEHTR SITSf=i oSt 50 H1 310, q SHetsl e
3=t fordlt o 7

A) 4T B) 6Hl C) 8Hl D) 10 Hi
Which of the following values are equal ?

(P)1* (Q)4° (R) 0* (S) 4!

A) Pand Q B) Qand R C) PandR D) Pand S
WTefteTteh shivre fhd! aum TR ?

(P) 14 (Q) 4° (R) 0% (S) 4!

A) PaforQ B) QTR C) PamfiTR D) PaATioTS

Find the value of P, if the median of following observations is 48
14,17,33,35,P-5,P + 7,57, 63,69, 80.
The above observations are in ascending order.

A) 45 B) 47 C) 49 D) 51
Tectoa gmefi=n gedTeh 48 319 o€ P =i fohma .

14, 17, 33., 35,P-5,P+7,57, 63, 69, 80.

I Tl IecT UM Foleil TR,

A) 45 B) 47 C) 49 D) 51
GCD of 54 and 1x 6 is 18. Find the second number.

A) 106 B) 116 C) 126 D) 136
SR 54 ST 1x 6 AT=n 9.91.19. 18 3, T o) TEa .

A) 106 B) 116 C) 126 D) 136
3.,

e

A) 3.75 B) 0.75 C) 0.375 D) 0.0375
3_9

g

A) 3.75 B) 0.75 C) 0.375 D) 0.0375

When 10 is subtracted from a number and the remainder is taken 16 times, we get the
number 544. Find the number.
A) 24 B) 34 C) 44 D) 54

TS GEMHEH 10 TSI e STeled] G 16 T2 shafl STET 544 BT =eR fiezal, v ot we o
A) 24 B) 34 C) 44 D) 54
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177.

290,

178.

29C.

179.

8.

180.

2¢o.

181.

ISAS

182.

(SAR

The ages of Kadar, Ali and Hafij are in the ratio 2 : 3 : 4. Ali’s age is 15 years. What are
the ages of Kadar and Hafij ?

A) 12 years and 24 years B) 20 years and 10 years
C) 10 years and 15 years D) 10 years and 20 years

IS, ST I FTRIS AT AT U 2 : 3 1 4 TR, ST I 15 TN STHSA T RIS FThIS
Tl 9 fondt ?

A) 12 a9 3for 24 a9 B) 20 a¥ ATfor 10 91
C) 10 =¥ 37for 15 99 D) 10 o 37Tfor 20 9

If a job is to be finished in 36 days instead of 60 days, how many times the original
number of labourers should be employed ?

3 5 4 5
A)E B)Z C)g D)g
@R &M 60 feaanast 36 feaamed Il w3, W o RETRAT fohdl 9¢ SR
SHTETIHT ShTH T AT ?

N B) > o= D)
) 3 )4 ) 3 ) 3

If diagonals of a quadrilateral are perpendicular to each other, then the type of
quadrilateral is

A) Parallelogram B) Rectangle C) Square D) None of these
S TR M U1 TehHeRHT A STEA A a T ST JehR shI0TdT ¢
A) FHTR 1 = H B) TR
C) I/ D) It TTEl
The simple interest of some principal for 2 years is X 1,250. Then, the simple interest of
the same principal for 5 years willbe ¥ _____ ?
A) 500 B) 1,253 C) 3,125 D) Cannot be determined
ThT HEEAT 2 T (T19) et AN T 1,250 3R, T T HagaT 5 THH S0 TS fohel ?
A) X 500 B) X 1,253 C) X 3,125 D) sﬁawm
Sum of two numbers is 17 and the difference between them is 7, then find their product.
A) 66 B) 70 C) 72 D) 60
SR 3 H&ATE ST 17 3 WTeie ek 7 3T, T T 3 S UK fohet 378d 7
A) 66 B) 70 C) 72 D) 60
Given only two diagonals, which of the following quadrilaterals can be drawn ?
A) Rectangle B) Rhombus C) Kite D) Parallelogram
SR G U1 Toel ST @I eTushl ShIUMT = 1o ShTedT A5 7
INESIRG B) TSI C) Tam D) THT S Slh
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183.

LR,

184.

LY.

185.

(IS4

186.

(A

187.

2L0.

28- LR

Which of the following is not a polynomial ?

A) V2x% +x B) - 7m?+5m C) p2+% D) %3+x/§b
AT ) S AT 7

A) 2x*+x B) -Tm’+5m ©) p2+% D) Sa+2b

After giving 10 % discount, the selling price of a shirt is ¥ 450. Then the market price of
the shirt is X

A) 495 B) 460 C) 500 D) 490
10% 92 facama ust srd=ht foght fehma 450 . B a€ o =i et (ge8) fermra fomeft ?
A) X 495 B) ¥ 460 C) X 500 D) X 490
The volume of a sphere with 21 mm radius will be cubic cm.
A) 38808 B) 3880.8 C) 338.08 D) 38.808
21 #t.#Y. B et MaTr o%d @3,
A) 38808 B) 3880.8 C) 338.08 D) 38.808
a* —b*=
A) (a-b)* B) (a>+b?) (a+b)(a—b)
C) (a% - b?)? D) (a + b)? (a—b)?
at — b=
A) (a-b)* B) (a®+b?) (a+b)(a—b)
C) (a%-b?? D) (a +b)? (a —b)?
Which of the following options represents the number 2.83333 ..... correctly ?
83 5 P 283
22— 269
A) 2756 B) 2.83 C) 283 D) &2
Qe eTeh! STVt T foetalt Far 2.83333 ... geteal ?
83 5 P 283
22— 469
A) 2756 B) 2.83 C) 283 D) 155

Clerk/Steno/Stenotypist



(TR R -29-
188. In AABC, line DE || side BC
[ (AD)=6,1(DB) =8
[ (AE)=9,[(EC) =
A
6 9
<« D E >
8
B C
A) 6 B) 8 C) 9
9¢¢. AABC W=, W DE || 95 BC
[ (AD)=6, [ (DB)=38
I(AE) =9, I(EC) =
A
6 9
< D E >
8
B C
A) 6 B) 8 C)9
4a* —12ab+9b’
=9
189. 53 )
A) 2a+3b B) 2a+b C) 2a-13b
4a® —12ab+9b’
=9
B —— )
A) 2a+3b B) 2a+b C) 2a-3b

11

D) 12

D) 12

D) 2a - 4b

D) 2a — 4b

190. The length and breadth of a room are 5 m and 3 m respectively. If tiles of dimensions
25 cm x 25 cm are to be fitted on the floor of the room, how many tiles will be required ?

A) 480 B) 120

C) 240

D) 180

%R0, T GicITE! AATe STM0T &l 3Tgehdl 5 HY & 3 H} 371", SR 25 THY x 25 TH 7Y ST8ciedT Hea

G W= JI9d Tl ST fohd | BT AFTAIA ¢

A) 480 B) 120

C) 240

D) 180
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191.

gRe.

192.

gRR.

193.

gR3.

194.

¢RY.

195.

gR4.

30- LR

/7 ABCD is a rhombus and its diagonals intersect each other at point E. If / (AC) =8 cm
and / (BD) = 6 cm, find [ (AB).
D C

A B
A) 8cm B) 7cm C) 4cm D) 5cm
TOYS! e ABCD o &l UshHeh T E foig 8adTd SR I(AC) = 8 TH 1M1 [(BD) = 6 T @
I(AB) =
D C
A B
A) 8gHl B) 7 &t C) 49w D) 5 &t
If the number ‘21x5’ is a multiple of 9, where ‘x’ is a digit, what is the value of ‘x” ?
A) 6 B) 3 O o0 D) 1
SR 21x5° & T 9 < U T EA 9 X’ T U8 A @ x’ = fopwa fomeft 7
A) 6 B) 3 C) 0 D) 1

Which of the following trinomial has the factors (5x — 1) and (6x + 1) ?
A) 1-x2+30x% B) 30x2+x—-1 C) 30x2+x+1 D) 30x2—x-1
(5% — 1) AT (6x + 1) B hivrea B 37e=d =R 2

A) 1-x2+30x2 B) 30x2+x-1 C) 30x2+x+1 D) 30x2—x-1

The multiplicative inverse of (x +y)isz. Ifz=8andy =-2, then x = ?
17 8 17 _ 8

A) 8 B) 17 © 8 D) 17

(X +y) I IURRR o0& 2 AR, Sz =8 ATMN y = — 2 A WX = ?
17 8 17 _8

A) 8 B) 17 © 8 D) 17

The population of a city increases by ‘x’ every year. It will be ‘b’ after ‘a’ years. Find the
present population of the city.

A) ab B) b - ax C) ax D) a-b
TohT YTET ATREEdT S ‘X’ 9 J1ed. ST ‘a’ I¥iHdt AT Y= Alshaed b’ gid 378 e 0
T TR HeAT=h AR fohd ?

A) ab B) b - ax C) ax D) a-b

Clerk/Steno/Stenotypist



A 31- 11

196.

¢RE.

197.

2R,

198.

gR¢.

199.

gRR.

200.

The radius of a circle with centre ‘O’ is 6 cm. Point P lies on the plane of the circle. If
[ (OP) =4.5 cm, find the position of P with respect to the circle.
A) On the circle B) In the interior of the circle
C) In the exterior of the circle D) Cannot be concluded definitely
‘O’ BT hgfeIg 1TV Aqe=h 51 6 HHfl 312 P &1 foig agesTal Tt 3112, SR/ (OP) = 4.5 Tt
A, T aAgesral g5 P forgal worm fafeera &,
A) I TETR B) (&A1 AAHM
C) TSN ATRIHTI D) TrH fAfverd &% 3eha et
th
If an article 1s sold for X 95, the profit is equal to 2 of the loss that occurs on selling the
same article for ¥ 60. Find the cost price of that article.
A) 370 B) ¥ 80 C)X75 D) X 90
. . 3
T HTTYh 95 FHHT frshe T8l BIVTRT BIRIET d<f HTfeh 60 T foshed IO qreelT=an I
TR X o ARt fohmr wmve.
A) X70 B) T80 C)X75 D) 90
The area of a square is equal to the area of an equilateral triangle with 2 cm side. Then
each side of the square will be cm.
J3
A) 2 B) - 0 3 D) V43
Teh IRETS &%es 2 Tt SITS] ST GHYS BRIV & %ha3] UaE 319, T ST T
EINCIRICIRETIR iR i
V3
A) 2 B) - C) 3 D) V43
Factorise : a® — b®
A) (a-b)® B) (2’ - b%)?
C) (a2 - b?)3 D) (a+b) (a—b) (a?—ab + b?) (a2 + ab + b?)
37EId q1eT : a® — bo
A) (a-b)® B) (a’ - b3)?
C) (@ -b?)? D) (a +b) (a—b) (a2 —ab + b?) (a + ab + b?)
If 2" =5 x 5" =4 = 5_then the value of n is
A) 2 B) 3 C) 4 D) 5
L SR 23 % 574 = 5 378e o n = feRma feRd ?

A) 2 B) 3 C) 4 D) 5
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